

1, 1, 1, 0

المسألة

$$f(x) = \begin{cases} a|x|, & x < 1 \\ b\sqrt[p]{x}, & x \geq 1 \end{cases}$$

$$f(x^+) = f(x^-)$$

$$f'(x^+) = f'(x^-)$$

$$a+1=b \rightarrow x = \frac{b^p}{\sqrt[p]{x}} \xrightarrow{x \rightarrow 1} b = \frac{p}{p} \rightarrow a = \frac{1}{p} \rightarrow a+b = \frac{p}{p}$$

2

$$f(x) \rightarrow \frac{-px + p}{\sqrt[p]{x^p}} \rightarrow f'(x) = \frac{-p(\sqrt[p]{x^p}) - (\frac{p}{\sqrt[p]{x^p}} \times (-px + p))}{(\sqrt[p]{x^p})^p} \rightarrow f'(1) = \frac{-10}{p}$$

$$g(x) = \frac{|x-1| + \sqrt[p]{x}}{\sqrt[p]{x^p}} \xrightarrow{x=1} g(x) = \frac{-x+1 + \sqrt[p]{x}}{\sqrt[p]{x^p}} \rightarrow g'(x) = \frac{(\frac{p}{\sqrt[p]{x^p}} - 1)(\sqrt[p]{x^p}) - (\frac{p}{\sqrt[p]{x^p}} \times (-x + 1))}{(\sqrt[p]{x^p})^p}$$

$$\rightarrow g'(1) = \frac{p-4\sqrt[p]{p}}{p} \rightarrow f'(1) - pg'(1) = \frac{-1p+4\sqrt[p]{p}}{p}$$

1, 1, 0

$$ab + c = \frac{1}{a} \xrightarrow{\times a} ba^p + ac = 1 \Rightarrow \boxed{ac = p}$$

$$b = -\frac{1}{a^p} \Rightarrow ba^p = -1$$

$$(f \circ g)'(-\sqrt[p]{p}) \Rightarrow x = -\sqrt[p]{p} \begin{cases} f(x) = \frac{1}{\sqrt[p]{p^p x}} \\ g(x) = \frac{1}{\sqrt[p]{x^p}} \end{cases}$$

$$\Rightarrow f(g(x)) = f\left(\frac{1}{\sqrt[p]{x^p}}\right) = \frac{1}{\sqrt[p]{\frac{p}{\sqrt[p]{x^p}}}} = x \Rightarrow (f \circ g)' = x' = 1$$

$$f'_-(a) = 0 \quad f'_+ \neq f'_-$$

$$f'_+(a)$$

$$f'(x) = m(x-a)^{m-1} \neq 0$$

$$x > a$$

$$\Rightarrow \boxed{m=1 \quad \vee \quad m=0}$$

$$\text{نقطة } f_+(a) = f_-(a)$$

$$m=0 \rightarrow \text{مشتق غير موجود}$$

$$m=1 \rightarrow f'_-(a) = 0, \quad f'_+(a) = 1$$

$$\rightarrow \boxed{m=1}$$

$$x > a \rightarrow f'_-(a) = 0, \quad f'_+(a) = m(\underbrace{x-a}_{a-a=0})^{m-1}$$

$$x = \nu \rightarrow -\nu a - \omega = f(\nu) \Rightarrow -a - (-\nu a - \omega) = \nu$$

$$\rightarrow -a = f(\nu) \Rightarrow \nu a = -\nu \Rightarrow a = -1, \omega$$

14

$$\Rightarrow \frac{f(\nu)}{f'(\nu)} = \frac{-0, \omega}{1, \omega} = -\frac{1}{\nu}$$

$$g'(x) = f'(x+1) + \nu f'(\nu x+1) \rightarrow g'(-1) = f'(-1) + \nu f'(\frac{1}{\nu})$$

1A

$$\xrightarrow{\text{جول مبادب است } \omega} f'(-1) = f'(\frac{1}{\nu}) \Rightarrow g'(-1) = \nu(\frac{\nu}{\nu}) = \frac{1}{\nu}$$

$$f \circ g = \left(\frac{1}{\sqrt[p]{x^p-1}} \left[\frac{1}{\sqrt[p]{x^p-1}} \right] \right)^p + 1 \rightarrow (f \circ g)' = \nu \times A' \times A \Rightarrow f \circ g \left(\frac{p}{\sqrt[p]{x}} \right)$$

$$= \frac{1}{\sqrt[p]{x}} \rightarrow \frac{\sqrt[p]{x}}{-\nu \sqrt[p]{x}} = -\frac{1}{\nu \sqrt[p]{x}}$$

1V

$$\lim_{h \rightarrow 0} \frac{f(\omega-h)-1}{\omega-h} \times \lim_{h \rightarrow 0} \frac{f(\omega-h)-\nu}{h} = \frac{\nu-1}{\omega} \times \lim_{h \rightarrow 0} \frac{f(\omega-h)-f(\omega)}{-h}$$

14

$$\Rightarrow -\frac{1}{\omega} f'(\omega) = -\frac{1}{\omega} \times \frac{\nu \omega}{\nu} = -\frac{\nu}{\nu}$$

$$\Rightarrow f'(x) = \sqrt[p]{x+\omega} + \frac{x-f}{\nu \sqrt[p]{(x+\nu)^p}} \xrightarrow{x=\omega} \frac{\nu \omega}{\nu}$$

$$4y = \nu x + 1 \Rightarrow M = \frac{1}{\nu} \Rightarrow \underline{M_{\text{max}} = -\nu}$$

110

$$\Rightarrow y' = \nu x - \nu = -\nu \Rightarrow \boxed{x=1}$$

$$\boxed{y=\nu}$$

$$f(u) = \frac{r - ru}{\sqrt{ru}} \rightarrow f'(1) = \frac{-r(\sqrt{1}) - \frac{r}{\sqrt{r}}(1)^{-\frac{1}{2}}(\frac{r}{\sqrt{r}})}{\sqrt{1}} = -\frac{1}{\sqrt{r}}$$

$$g(u) = \frac{|u-r| + \sqrt{ru}}{\sqrt{ru}} \rightarrow g'(1) = \frac{(-1 + \frac{r}{\sqrt{r}})(1) - \frac{r}{\sqrt{r}}(1 + \sqrt{r})}{r\sqrt{1}}$$

$$g'(1) = -1 + \frac{r\sqrt{r}}{r} - \frac{r}{r} - \frac{r\sqrt{r}}{r} = -\frac{1}{r} - \frac{\sqrt{r}}{r}$$

$$f'(1) \cdot g'(1) = -\frac{1}{\sqrt{r}} + \frac{1}{r} + \frac{r\sqrt{r}}{r} = \frac{1}{\sqrt{r}}$$

$$(f \circ g)' = g'(\frac{r}{\sqrt{\lambda}}) \times f'(g(\frac{r}{\sqrt{\lambda}}))$$

$$g(\frac{r}{\sqrt{\lambda}}) = \frac{1}{\sqrt{\frac{9}{\lambda} - 1}} = r \rightarrow g'(\frac{r}{\sqrt{\lambda}}) \times f'(r)$$

$$g'(\frac{r}{\sqrt{\lambda}}) = -\frac{1}{r} (u^r - 1)^{-\frac{r}{r}} \times ru = \frac{9}{\sqrt{\lambda}} \times -\frac{1}{r} \times (\frac{9}{\lambda} - 1)^{-\frac{r}{r}} = -\frac{r}{\sqrt{\lambda}} \times (r^r)^{-\frac{r}{r}} = -\frac{r^{\Delta} \times \sqrt{r}}{r} = -\lambda\sqrt{\lambda}$$

$$f(u), u=r \rightarrow f(u) = u[\varepsilon]_{+1}^r = uu_{+1}^r \rightarrow f'(r) = rr(r) = 4r$$

$$\frac{-\lambda\sqrt{r} \times 4r}{-14\lambda\sqrt{r}} = r$$